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1.}9%T & O Sl a1 e gvoT F1 3ereIor
el 872

A. FSHT 3¢9 ¥t & T St g1t &Y 3o
H @rga

B. Th AW W I g3 aTfRiaT &M Y erreht
ST

C. ST Tah [P & Teh IS T I@T ST §

D. Tl a&q] o1 Ul S aRel Yerd & g

Ans. D
Sol.

faad (Fermsfser) ador ereq v g & fAwdd
el a1 a3l gaRT 3cueal faer &t
gafar &1 s aifasr a¥or sf gt Sirar &1
3cTeduT.

a) AT 3cded el & ToIT glell gTdl &l Th
Y JATSAT

b) Tk arflier #MT F TH AT I R
&aT

c) T &5 3R v fIwr Sa F1s & s
#H 3ol ST B

glefifeh, faehod D oot (Ufeim) e¥oT T Sereor
gl

2.Na20. Ca0.6Si0, (difsgd FHfem#d
Afee)dm o o= & forw fhar Srar
g2

A. TYCTT TATH AT §TS IATH

B. SI3+T TITH

C. =T o

D. |IsT AT HATIH el

Ans. D

Sol. Na20. Ca0.6Si0:2 (sodium calcium
silicate)is used to make soda or soft
glass.

0 It melts at low temperature.

[0 It is used in manufacturing of bottles,
test tubes and glass of windows, etc.

[0 Glass is an amorphous or transparent
soild which contains mainly silica (SiO2).

3.3%0 §ER & AR WR & dAGAT H HH
FLh &dl | PieT AT TAATIH 31T fHAT ST
g I WffeAe, e, tarfafase?

o

gradeup
A. TEURRETH B. TdATeal T
C. UcrFarss D. vEraifead
Ans. A

Sol. Antipyretics chemical is used in
medicine by reducing body temperature
during high fever e.g., paracetamol,
aspirin, analgin.

Antipyretics cause the hypothalamus to
override a prostaglandin-induced
increase in temperature. The body then
works to lower the temperature, which
results in a reduction in fever.

4. wepARS i & Aeafaiad & & foraer
39TeT fohaT 1T AT?

A. 5 FaRTSS

B. HII FARIBS

C. QIf3TH FARBS

D. fcaR FaREs

Ans. D

Sol. Silver chloride is used in
photochromatic glass.

* The word photo refers to light and
chrome refers to color.

* Photochromic glasses darken on
exposure to specific types of light of
sufficient intensity, most commonly
ultraviolet (UV) radiation. In the absence
of activating light the lenses return to
their clear state.

5.faFafaf@a & @ Fia @ 9T 1 3o @g
g?
A. 373

B. fAehst @iy derd
C. ATl

D. ¥ @i

Ans. D
Sol.

O 378, Fape T Jery, Aol goaie aaf
A & TN 3T AT &

00 S 3 31 3rey Ahalt 3 T siveret, v
A, RFT ey 961, 99k, gar anfe anfae
gl
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6.%hTS1gISSC & Ui ATH  Fohcell fahell Sfel Soll
o a¥er &2

A. SaT8TaT 15-20 Rl St

B. o1T8aT 25-30 fehell e

C. SaT$7T 50-55 el el

D. ofarerer 9-12 fahel el

Ans. A

Sol. 1 gm of carbohydrate contain around
17 kilojoule of energy.

* 1gm of fat contain around 35 kilojoule
of energy.

* 1gm of protein contain around 15
kilojoule of energy.

7.faeTf@e D T RIfic JeR gty & §?
A. 15 g

B. 100 pg

C. 30 ug

D. 85 ug

Ans. A

Sol.

15 pg faerf@er D &1 3ERifdd 3R & ¢
Stafh 3T AT 100 pg &1

farffsr D & awey Aa rfaf@d §:-

* i faaX Ao, HUEH (IS RIS Jehrer &
U H T A0), gfeee, dd, $es I
oA Scanic |

8.36d1 I~ A=l HIdH (IGC) ar
TSt fohr ger A fonar arar?

A. T

B. TRd

C. @1

D. qu$

Ans. B
Sol.

o 3R ¥ AT 2020 & Ugel TTATE & GRIT 71
feel 7 3647 3TaTsErT st S (1GC)
Fr ASETEAT HI

o g AT &7 & IS & 3Tl & &9
# afota &

o 3T 3ol & Awy foaaEy: ¢ 3w aga
B T JEAT STevde ¢l

o
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o TSI IR AT H Teh IR AT gt arelr
aRash -a=miareh FFAe Bl

o R &l S TS TFAeTT ST AT et
JTelT THATT TRATS 2T B

o Jgall IR, HRA o 1964 #H 229 3msoirar &I
AStarer v ot

9.9y &I FEH HE R HioA A g?

A. Fcd

B. &R

C. h¥C

D. 3TaR& &R

Ans. A

Sol.

Mantle is the thickest layer of Earth.
e Earth's mantle extends to a depth of
2,890 km, making it the thickest layer of
Earth.

o It forms 83 per cent of the earth’s
volume.

e The crust and the uppermost part of the
mantle are called lithosphere.

10.3778¢ % dgd, Iseufa
Hafed =3I aTad & Teh «JIATeer dl driags
HET ~Areher & &4 H fAgese FX el B
A. 3T 124 (1)

B. 3o 125

C. 3t 128

D. 3I=de 126
Ans. D
Sol.

o WTeBE 126 F dgd, UsgUld 3wIdH
T & U ATl $I T SRiags
A& =T & ®7 7 Fged = Fd g,
)

* gfe e =araredier &1 9g R &

* i HET RN 39 ST & deledl
HT ITelel el H HEAY g

* e FEg Fararedier 3Rl &9 @ JeqdfEud
g
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D. #grH

Ans. C
Sol.

o UgAT HIETE FREET gIa H HT §¥e 53w
F9AT F dgd TaRa BFaT =T o°m

o She SEC STSAT AT & ST ST o XIV
& §HY 1664 F g3 AT WA F JE, ool
AYeUCeH # Toh 3R HREET T 6
1673 §. # SISl o HIST FECR o TogelIN
W Ueh SE TN el IFATT &1 1674
S A, wiER & TR F Yo F difzAd
ATHS TS g 9red fhar|

o B sTC 3f3ArT FUelr & 1723 s&ar &
I, 1725 $E & AGER de W A 3R
1739 SET # FUShel W Feoll T Tl

12.gif3arer & wee fRa fFas &g o9 718
Ar?

A. fafeer 3R =

B. fafeer ik gl

C. fafeer 3R wraar

D. 39 3R wEEr

Ans. C
Sol.

o gifsarer ¥ a1s1s 1760 & fafeer 3k wiwhdar
& o osr a5 AT

o Ig WA 3R 3 & g osT = RRr
eileeh Jeu ATl T IS FIC g fafeer dar
T AT FHTC 31 AT 3R HIEET JalT T Aea
FI3C 3 ofoll o fopam am)

o BT SR ARTFaE 3 JfA-aheal3 3R
WA 9 ISl deh AT o, &l 3o 22
JeTaT 1760 T ATcATHIOT HX & ar| 33rar
T Ig &ISs S o vl

o
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e 1763 # @ &1 €Y & Ty Feu FATA 8
7| HI & AR, eI} 3R iy shiet
arg & T o &, Afer 3% frdedr aa ar
3 AT &1 T @ Ak m arar 1| & haer
caraRes aifafafear & awa A

13. Select the word which means the
same as the group of words given.
[11End]|]

A box or cage for rabbits or small animals
A. hutch

B. menagerie

C. kennel

D. lair

Ans. A

Sol.

A “hutch” is a box or cage, typically with
a wire mesh front, for keeping rabbits or
other small domesticated animals.
Therefore A is the correct answer.

14. Select the most appropriate
ANTONYM of the given word.
CHIVALROUS

A. indignant

B. valiant

C. cowardly

D. annoyed

Ans. C

Sol.

Let us learn the meanings of these words.
Chivalrous: courteous and gallant,
especially towards women.

Indignant: feeling or showing anger or
annoyance at what is perceived as unfair
treatment.

Valiant: possessing or showing courage
or determination.

Cowardly: lacking courage.

Annoyed: slightly angry; irritated.

The meaning of the word “cowardly”
means the opposite of “chivalrous” which
makes C the correct answer.

15. Select the most appropriate
meaning of the underlined idiom in
the sentence.

Ria has tried hard not to steal her
brothers thunder but it was inevitable.
A. take away her brothers opportunities
for jobs
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B. get more recognition than her brother
for their success

C. get a big reward from her brother for
her achievement

D. pick up her brothers lucky charms to
win prizes

Ans. B

Sol.

“To steal someone’s thunder” means to
win praise for oneself by pre-empting
someone else's attempt to impress. In
the context of this sentence it means
getting more recognition than her
brother. That is why B is the correct
answer.

16. Select the most appropriate
synonym of the given word.

Select the most appropriate synonym of
the given word.

FATIGUE

A. warmth

B. tiredness

C. lightness

D. energy

Ans. B

Sol.

Let’s learn the meaning of these words:
Fatigue: extreme tiredness resulting from
mental or physical exertion or illness.
Warmth: the quality, state, or sensation
of being warm; moderate heat.
Tiredness: the state of wishing for sleep
or rest; weariness.

Lightness: he state of having a sufficient
or considerable amount of natural light.
Energy: the strength and vitality required
for sustained physical or mental activity.
The word “tiredness” has meaning that is
similar to that of “fatigue”. Therefore B is
the correct answer.

17. In the following question, the given
sentence has four parts marked P, Q, R
and S. Choose the part of sentence with
the error and mark as your answer. If
there is no error, mark ‘No error (S)’ as
your answer.

The consequence of (P)/ his carelessness
was (Q)/ that the game was lost. (R)/ No
error (S)

A.P

B.Q

C.R

o
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D.S

Ans. D

Sol.

The sentence is grammatically correct.
Hence, option D is the correct answer.

18. In the following question, the given
sentence has four parts marked P, Q, R
and S. Choose the part of sentence with
the error and mark as your answer. If
there is no error, mark ‘No error (S)’ as
your answer.

Men who has risen (P)/ by their own
exertions (Q)/ are always respected. (R)/
No error (S)

A.P

B.Q

C.R

D.S

Ans. A

Sol.

‘Men’ is a plural noun; hence, the verb
must also be plural to maintain subject-
verb agreement. Therefore, ‘has’ must be
replaced with ‘have’ to form a
grammatically correct sentence.

Hence, option A is the correct answer.

19. Choose the most appropriate
option to change the narration
(direct/indirect) of the given
sentence.

Ramesh said, “The Venus is also known
as the evening star.” A. Ramesh said that
the Venus was also known as the evening
star.

B. Ramesh said the Venus is also known
as the evening star.

C. Ramesh told that the Venus is also
known as the evening star.

D. Ramesh said that the Venus is also
known as the evening star.

Ans. D

Sol.

The given sentence is in assertive form.
The reporting speech is in past tense, but
the reported speech is a universal truth.
When reported speech is universal
truth/idiom/phrase/historical fact, then
the tense of the reported speech remains
the same.

The conjunction ‘that’ will be used to
connect the reported and reporting part
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of the sentence. Hence the correct
answer is option D.

20. Rewrite the sentence in passive voice.
Did he call you?

A. Were you called by him?

B. Are you called by him?

C. Did you called by him?

D. Have you been called by him?

Ans. A

Sol.

The given sentence is in the Active voice,
as the form of the verb (‘call’) shows that
its subject (‘he’) was doing something
and was ‘active’.

Therefore, it must be changed to the
Passive voice, where something could be
done by the subject, and it was ‘passive’.
In order to do that,

1. The question words do not change their
position at the beginning of the sentence
when the active voice is changed into the
passive voice

2. Add the appropriate form of the verb
'be' to the sentence and use the past
participle of the verb (‘call’ is converted
to ‘called”).

Thus, the same sentence in the Passive
voice is ‘Were you called by him?’.
Hence, option A is the correct answer.

21. Choose the correct alternative which
will improve the part of the sentence
given in quotes.

The pedestrians 'should to be' cautious
while crossing the road. A. Must not

B. Should be

C. Should not

D. No improvement

Ans. B

Sol.

‘To” is erroneous in the sentence. The
phrase should be ‘should be’ to form a
grammatically correct sentence.
Therefore, option B is the correct answer.

22.110 fRaY / ger &1 det 1fa & Telel arell T
ST Tcdh 82.5 el & a1g 3 fAeTe & foIT Sahdlr
§ Stafe 30T A S 55 fopeft/ger &r el arfar
T I §, 9 AF 27.5 PN F 91 1 Beie &
forT ahchr | Ife a7 Teret arelr ¢of 660 et

o
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o g Al § ar el afd @ "ol arelr gt
CaRT T @1 I gfr AT Hfe?

A. 572 el

B. 506 el

C. 357.5 farelt

D. 338.25 AT

Ans. D
Sol.
Time taken by faster train to cover 660

660 |
km = —110 = 6 hr. = 360 minutes

660
No. of stoppages = m = (8-1) =7

(last stoppage will not be counted)

Time in stoppages = 3 x7 =21 minutes
Total time taken by faster train = 360 +
21 = 381 minutes

Time taken by slower train to cover 27.5

27.5 1
km = ? = zhr: 30 minutes

Total time taken by slower train to cover
27.5km = 31 + 1 = 31 minutes

31 minutes — 27.5 km
X 12 X 12
372 minutes — 330 km

30 minutes — 27.5 km

i — 27'5><9
9 minutes 30 = 8.25 km

So, the slower train will cover 338.25 km.

23.A Tl g & 4 Tt ufq a¢ & ofq @
Tl Y& T ¢ 3R 4 6 % a1g, B 30 g &
T feem & 10 foreft ufeay e &r aifa & asfera
AT Y& HIT &1 GRS &g & B foheielt g
T A & 916 A F IS o9l (GUHST & al
TATAT deh Fel HA)?

A. 23.67 Tt

B. 26.67 faelt

C. 24.67 Tl
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D. 25.67 Tt
Ans. B
Sol.
In first 4 hours, A will walk =
4xXx4=16 Km
Now B will catch him after

Distance 16 16 8

- p— = —_— T - h?"

=Relative Speed 10—4 6 3

So, distance covered by B from the
starting point

_ 8 80
= speed X time = 10 ><§ =3 = 26.6

24.Two pipes A and B can fill a tank in 24
and 32 min, respectively. If both the
pipes are opened together, after how
much time pipe B should be closed so that
the tank is full in 9 min?

A. 40 min

B. 30 min

C. 10 min

D. None of these

Ans. D

Sol.

Let B is closed after x min. Then [part
filled by (A + B) in x min] + [part filled by
Ain(9-x)min] =1

'.x[i—iJ—[Q—x]xizl
' - 24

24 32
[4—3} (9—x)
— + - -=1
96 24
(4—3] (9-x)
=X - =1
96 24
4 gy
96 24

=>7x +4(9 - x) =96
= 7X + 36 - 4x = 96
= 7X -4x = 96 - 36

~3x = 60
60
X=—=20
3

Hence, B must be closed after 20 min.
Aliter,
Here, x = 24 min, y = 32 min, t = 9 min

o
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~ Required time
t 9
i
X 24

15 .
=32x—=20min
24

25 o et TR O 165 04 9favd 1 e @
3 Y T Tehae e sATST 6,350 FUY §| HATA &I

9T HATT A HT 5% gut T ATLROT AT FAT
gram?

A. 10,200 9

B. 7,620 T

C. 11,400 ¥4

D. 9,600 ¥4

Ans. A
Sol.

o e TR 162 0% uferad r ax @ 3

a¥ T Thgeld SIS 6,350 T Bl
1
, 2

¥ 162 o = —
Igl, 3 % = 6

ad | gauE | i
1st 5] 7
2nd 5] 7
3rd 5] 7
=216 | =343

gafaw, afg Herest 216 F1s §, ar T 343
EZAERS

ThIe Y ATl = 343 - 216 = 127 3H1S
Ifg 127 918 = 6350 U

ar 1 3% = 50 9
SHTAT, Feltil =216x50 =10,800 ¥4

%
I §F 10,800 TR W 3 % yfaay fr &

?T%aﬁaﬁr@rmmmmm%l

=0 PR, remRoT = =
A G XEAT _ 10800X1x17

100 - 6x3
=10,200 ¥9%
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26.60 ©ET & gRumd &1 3i@a 38 &1 Ife
ggol 22 SmEr & 3Ea 36 g, 3R 3ifas 32
oET & Aad 32 8, af AW oEl #r dEd
qRomA e & & 1 grem?

A. 77.33

B. 65.30

C. 52.12

D. 81.9

Ans. A
Sol.

Fol TEIT = 60 x 38 = 2280

TEel 22 T Fel HEAT = 22 x 36 = 792
3fa# 32 & FoT HEwr = 32 x 32 = 1024
AV oET T Fo FEA = 2280 - (792 +

1024)
=2280 - 1816 = 464

3itaa oo = 464/6 = 77.33

27.21ﬁx2+3x+1=0%,a’rx::*%$rﬂl?-r
At & @ Fr grm?

A. 318 B. 324
C. 327 D. 322
Ans. D

Sol.

T x2+3x+1=0¢; x¥ faea &=
ery

X+i= -3

= x

3,1 a3 _ar_ay — _

_X —I—xa—{ 3) 3(—3) = —18
il

WIE—F;:EEJ:—E:SEE

28.APQR #, £Q = 85°%iR «R = 65°. fdig S
AR T A e PQ 3R PR W &, 30 TR
£STR = 95°, 3R QR 3R ST & 34T 9 : 5
g1 afe PQ = 21.6 @, @ PT I &«1s §:
A. 9 T

B. 12 @&

C. 9.6 @&

D. 10.5 9+

Ans. B
Sol.

o
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fear s &, APQR &, 2Q = 85%3iK «R =
65°.

APQR #H,

<P + 2Q + «R = 180°

= 85° + 65° + «P = 180°

= <P = 180° - 85° - 65° = 30°

31, £PTS + «RTS = 180° A&+ F7#A)
= <PTS = 180° - 30° = 85°

APST &,

¢PST + «PTS + «SPT = 180°

= 85° + 30° + «PST = 180°

= ¢PST = 180° - 85° - 30° = 65°

319, £QPR = £SPT (T HI0T)
2<PQR = £PTS = 85°

¢PRQ = 2«PST = 65°

sgfaT, APST ~ APRQ (SUT-hIUT FHTAAT Fr

TS W)

QR/ST = PQ/PT

= 9/5 = 21.6/PT

= PT = 21.6 x (5/9) = 12 &#F

29.3f¢ 30x2 - 15x + 1 = 0, @ 25x2 +

1/36x2 & AT AT HIAT:
65
12
55
12
1
. B>
c 4
9
D. 5
Ans. B
Sol.

ggl, 30x2 - 15x +1 =0

A.

B.
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gl R® 6x ¥ fiad e |

= 5x + 1/6x = 5/2

Gl X% I @ U

= (5% + 1/6x)? = (5/2)?

= 25x2 + 1/36x%2 + 5/3 = 25/4

= 25x2 + 1/36x2 = 25/4 - 5/3 = 55/12

30.AABC #, D 3iR E #=T AC 3iR $feiT BC W
fSig &, sh#er: ¢@T DE || AB. F, CE &1 T faig
&, DF || AE g1 afg CE = 6 @4, 3R CF =
2.5 T, ar BC SRR &

A. 14.4 a#Y

B. 15.6 @&

C. 12 9#r

D. 14 @Y

Ans. A
Sol.

fear sram §, CE = 6 @, 3R CF = 2.5 @+

A B

FE=CE-FE=6-2.5=3.5%

Ife DF, AE & AR & a,
=CF/FE=CD/DA=2.5/3.5=5/7

I DE, AB & FHAWIR & d,
=CD/DA=CE/EB=5/7

AfheT CE = 6 Y

afg 5 515 = 6 /AT

ar 12 518 =(6/5) x12=72/5=14.4 Q#Y
59 YR, BC = 14.4 @

31.31eR & 39 A< F1 IOT HY, 99 39 for
AT IER HWeT & ReFd TUT A HfAS §T 4
T ST & ar 3 S@er & qoT |
F_hg_fh_gf hg_fh_g

A.g,h, f, g, hf
B' hl Igl hlflg

o
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C.g fgf hf
D' fl gl I”‘l fI gl h
Ans. A

Sol.

Pattern is-

fgh / ghf / hfg / fgh / ghf / hfg

i.e.

fghghthfg / fghghfhfg

Hence, the correct answer is option A.

32.T% % AT # GARDEN % EYKBCG &
¥ # for@r Siar &1 d 367 % &S 7 BALD

H FHa for@r e

A. AAEF

B. ZAEF

C. ZYEB

D. ZAEC

Ans. C

Sol.

Here the logic is : 2 is subtracted to the
alphabets having single digit place value,
and two is added to the sum of the digits
in case of alphabets having two digits
place value.

G — 7-2 = 5 Which is the place value of
E

A— 27-2= (25) Which is the place value
of Y

R—14+8=9+2 Which is the place value of
K

D— 4-2=2 Which is the place value of B
E—5-2=3 Which is the place value of C
N—1+4=5=2 Which is the place value of
G

Similarly,

BALD is written as ZYEB

Hence, option C. is the correct answer.

33.fqw v fasedl #A @ 3W HEA WHE &
T R S AT dear-aeg & AT

gl

(11, 21, 241)

A. (19, 56, 1054)

B. (91, 99, 1445)

C. (31, 94, 2569)

D. (12, 44, 1736)

Ans. D

Sol.

As, 112- 100 = 21, 212- 200 = 241
Similarly,
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122- 100 = 44, 44%- 200 = 1736
Hence, option D is the correct response.
34U Fec @1 H, ‘JEFBEZOS' &N

'17222125221128' & &4 # fo@r Sier gl
ar A e #wr & PRIMEVIDEOQ’ &1 &4

for@r Strwen?

A. 119181422518232212

B. 119181423222221812

C. 181422218231912212

D. 232211191814222182

Ans. A

Sol.

Take the place value of the opposite letter
as the code-

J E F 8 E z (o] S

UL

17 22:21 25 22 1 12 8
Similarly,

P R | M E v | D E 0

NENERRNNY

11 9 18 14 22 S5 18 23 22 12
Hence, the correct answer is option A.

*

gradeup

35.9l @1 3R aHg Aefaf@d sger A
geeTards fdeg (?) @ gfaedridd Ham?
SWA, OAW, KES, ?, CMK

A. FIO B. GHO
C. FIP D. GIO
Ans. D

Sol.

444 444 444 -444  -444
SWA O0OAW KES GIO CMK
Here first letter of each letter cluster is
decreasing be four places and following
the same pattern as first letter follows.
The last and third is going down by four
steps in every letter cluster.

Hence, option (D) is the correct answer.
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